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2 ~ (% 6 ») The toroid in the right figure consists of N turns and has a rectangular cross-section. Its

inner and outer radii are a and b, respectively and height is h.
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1. Calculate the magnetic flux within the toroid ;

4
2. Show that the inductance (& g &) of the toroid ~——a —>‘ ‘
—
L= u,N?h InE < —h——>
21 a




B L S 1068 £ RIS L RR

9 AP EEL) #p:_gupm
g

YRR b L e £3F %3

(210 At BHEE 0 F - FR A mea ] AR2 3 v Bk

TR - T B AR A AR AT 52 A AR
?*\*Eum%‘rg‘:—} 3m"§\fi;€a L’ F%\’}’u’?ﬁ—%{i:”% /ln\#m’
P RS 2 S F IR A ST vk o b AT 4T B b

WL AEREOLR?

A0 (£ 10 A cBATr 0 F - FRAFWFR S m F L HUEEP
B A i ﬁﬁﬁ;‘ﬁvfﬁié e CBLyFHDT < C
B3 PEhenpedp L Lo gid t=ladiw o HENSSFHEE ) £ RRER
SRR

?‘ﬁ%&?ﬁ*%ﬁhﬂﬁﬁd(#69)

SR - BESHEAPVRAFIHIE N P R(F R e
LdB) sy R R TEARE P RELRERRI P o SRR
TE R BERORGE o R RE LA v e E s Foarad ik
DT S B ) 3k
L8P s kT R EFEgHEwrFE2 gl givifad  ~ TgaFIs, -

TeEARB S, A TERL SN AL, FF s K REEd .
2. FHES R TR B - AL | REFTEFTFEC? G T EFEEFES
TEE e, TERAFIR, S TFRL TR, T SRR o




